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1. Which of the following tables represent the given histogram with varying base widths

No, of students
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----- 204
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|
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1145

1155 [ 165 | 175 | 185 [ 195 ] 205 | 215 | 225 | 235 [ 245 | 255

(i)

(if)

(iii)

(iv)

(v)

Height (in cm)

—

Height (in cm)

125 -155

155-195

195 - 205

205 -235

235 -245

245 - 255

No. of students

6

12

7

12

12

9

Height (in cm)

125 -155

155 -195

195 - 205

205 - 235

235 - 245

245 - 255

No. of students

2

3

5

4

12

9

Height (in cm)

125 - 155

155-195

195 - 205

205 - 235

235 - 245

245 - 255

No. of students

6

12

5

9

12

9

Height (in cm)

125-155

155-195

195 - 205

205 -235

235 -245

245 - 255

No. of students

6

12

5

12

12

9

Height (in cm)

125 -155

155-195

195 - 205

205 - 235

235 -245

245 - 255

No. of students

2

3

5

8

12

9




2. Which of the following tables represent the given histogram with varying base widths

Y

204
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16
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(i)

(if)

(iii)

(iv)

(v)

Height (in cm)

I—%

Height (in cm)

50-90

90 - 100

100 - 110

110-130

No. of plants

10

7

5

15

Height (in cm)

50-90

90 - 100

100 - 110

110-130

No. of plants

4

8

Height (in cm)

50 -90

90 - 100

100 - 110

110- 130

No. of plants

8

8

Height (in cm)

50-90

90 - 100

100 - 110

110-130

No. of plants

10

8

15

Height (in cm)

50-90

90 - 100

100 -110

110-130

No. of plants

10

8

15




3. Which of the following tables represent the given histogram with varying base widths
¥
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No. of plants
i
=

50| 60 | 70 | 80 | 90 | 100 | 110 [ 120 | 130 | 140 | 150 | 160 | 170 |

Height (in cm) e——s—

Height (in cm) |50 -60|60-70|70-90/90-130(130-170

[
(0 No. of plants 5 5 3 1 3

Height (in cm) |50 -60|60-70|70-90(90-130|130-170
No. of plants 5 5 5 5 13

(if)

Height (in cm) |50-60|60-70(70-90|90-130|130-170
No. of plants 5 5 9 5 13

(iii)

Height (in cm) |50 -60|60-70|70-90(90-130|130-170
No. of plants 5 5 1 1 3

(iv)

Height (in cm) |50 -60|60-70|70-90|90-130|130-170

%
W) No. of plants 5 10 5 5 13




4. Which of the following tables represent the given histogram with varying base widths

i :
----- 204 3'
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----- 18 -
! E
| -.
----- 16 !
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1] t
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_______ B
4-! Z.
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118 | 28 |38 | 48 | 58 | 68 | 78 | 88 | 98 108|118 | 128" | |
(e e 1 8 1 o] e (e i i 8 i B B
Age (inyears) e——ax
(0 Age (in years) |18-48|48-78|78-108|108-118|118-128
i
No. of students 5 3 4 15 11
(i) Age (in years) [18-48|48-78|78-108|108-118|118-128
ii
No. of students 5 3 8 15 11
(i) Age (in years) |18 -48|48-78|78-108|108-118|118-128
iii
No. of students 15 10 11 15 11
(iv) Age (in years) |18-48|48-78|78-108|108-118|118-128
iv
No. of students 15 15 11 15 11
W) Age (in years) (18-48|48-78|78-108|/108-118|118-128
v
No. of students 15 10 9 15 11




5. Which of the following tables represent the given histogram with varying base widths

Y :
_____ |2 D4
_____ :1 g
..... 6
| !
B ;
..... 14 t
£ L f'
1] t
=] g
g [p f
. ;
g -8 f
_____ L6
A :-
_____ iy}
10 | 20 | 30| 40 | 50 | 60 | 70 | 80 | 90 [100 ||
Age (in years) s——p
(0 Age (in years) [10-30|{30-50|50-60|60-70|70-90(90-100
i
No. of students 6 4 15 7 5 10
(i) Age (in years) |10-30(30-50(50-60|60-70|70-9090-100
! No. of students 11 7 15 9 9 10
(i) Age (in years) |10-30|30-50(50-60(60-70|70-90|90-100
. No. of students 11 7 18 9 9 10
(iv) Age (in years) |[10-30(30-50(50-60|{60-70|70-90|90-100
iv
No. of students 11 7 15 7 9 10
W) Age (in years) [10-30|(30-50|50-60|60-70|70-90(90-100
Y,
No. of students 6 4 15 9 5 10




6. Which of the following tables represent the given histogram with varying base widths

Y
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..... L. :
: : : _-‘xi
105204300 40150 6070180 t
S5CO0re  ——a—p
(0 Score 10-50(50-60|60-70|70-80
i
No. of students 6 13 14 8
(i) Score 10-50/50-60/60-70|70-80
ii
No. of students 2 11 16 8
(i) Score 10-50(50-60|60-70|70-80
. No. of students 6 11 17 8
(iv) Score 10-50|50-60/60-70|70-80
v No. of students 2 11 14 8
W) Score 10-50(50-60|60-70|70-80
Y,
No. of students 6 11 14 8




7. Which of the following tables represent the given histogram with varying base widths
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iE{EH EREE s ] in e B e Bl s e e BRI [ B i 5
SCOreg s
(0 Score 10-30(30-40|40-50|50-90/90-120
I No. of students 13 15 13 12 11
(i) Score 10-30/30-40(/40-50|(50-90|90-120
ii
No. of students 13 15 17 12 11
(i) Score 10-30(30-40/40-50|50-90/90-120
iii
No. of students 7 15 10 3 4
(iv) Score 10-30|30-40|40-50(50-90(90-120
iv
No. of students 13 11 13 12 11
W) Score 10-30(30-40/40-50|50-90|90-120
v
No. of students 7 15 13 3 4




8. Which of the following tables represent the given histogram with varying base widths

Y :
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-8 |18 | 28 | 38 | 48 | 58 | 68 | 78 t
Rainfall (in mm)  s—————
(0 Rainfall (in mm) |8 -18|18-28|28-38|38-78 (i) Rainfall (in mm) 8-18|18-28|28-38|38-78
i ii
No. of days 15 6 18 7 No. of days 15 6 13 7
(i) Rainfall (in mm) |8 - 18|18 -28|28-38|38-78
iii
No. of days 15 6 16 2
(iv) Rainfall (in mm) |8-18|18-28(28-38|38-78
iv
No. of days 15 6 13 2
V) Rainfall (in mm) |8 -18|18-28|28-38|38-78
%
No. of days 15 3 13 7




9. Which of the following tables represent the given histogram with varying base widths
Y

No. of days

] BT T A T E R R T R

Rainfall (in mm)  s—————

(i Rainfall (in mm) |11-21|{21-41|41-51|51-61|61-81
i
No. of days 13 12 11 7 13

(i) Rainfall (in mm)|11-21|21-41|41-51|51-61|61-81
i

No. of days 13 6 14 7 7
(i) Rainfall (in mm) |11 -21|21-41|41-51|51-61|61-81
iii

No. of days 13 16 11 7 13
(iv) Rainfall (in mm)|11-21(21-41|41-51|/51-61|61-81
iv

No. of days 13 6 11 7 7
W) Rainfall (in mm) |11-21|{21-41|41-51|51-61|61-81
%

No. of days 13 12 8 7 13




10. Which of the following tables represent the given histogram with varying base widths
¥

No. of days

28 | 38 | 48 |58 | 68 | 78 | 88 | 98 | 108118

Temperature (in degree) s———

Temperature (in degree) |28 -38(38-68 |68 -108|108-118
No. of days 5 10 11 14

(i)

Temperature (in degree) |28 -38|38-68 |68 -108|108 - 118

ii
(i No. of days 5 3 5 14

Temperature (in degree) |28 - 38|38 -68 |68 -108|108 - 118
No. of days 5 10 9 14

(iii)

Temperature (in degree) |28 - 38|38 - 68|68 - 108|108 - 118

(iv)
No. of days 5 14 11 14

Temperature (in degree) |28 -38|38-68 |68 -108|108-118

(v)
No. of days 5 3 3 14




11. Which of the following tables represent the given histogram with varying base widths

No. of days

(i)

(i)

(iii)

(iv)

(v)

Y
----- 204-
|
|
----- 18
|
|
----- 16
|
|
----- 14
----- 02
----- 10
------ 8
------- 6
4
_______ "] :
+—— X
1320142 |52 | 62 | 72 | 82 | 92 102 112 | 122132 [ 147 | ]
e e e )
Temperature (in degree}] s————s—x
Temperature (in degree) | 32-62(62-92(92-102|102-112|112-132|132-142
No. of days 4 3 12 10 5 5
Temperature (in degree) |32 -62|62-92(92-102|102-112|112-132|132-142
No. of days 11 8 12 10 10 5
Temperature (in degree) [32-62(62-92(92-102|102-112|112-132|132-142
No. of days 11 8 12 6 10 5
Temperature (in degree) |32 -62|62-92(92-102|102-112|112-132(132-142
No. of days 11 8 7 10 10 5
Temperature (in degree) |32 -62|62-92|92-102|102-112|112-132|132-142
No. of days 4 3 12 5 5 5




12. Which of the following tables represent the given histogram with varying base widths
Y
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No, of students

"48 | 58 | 68 | 78 | 88 | 98 | 108|118 | 128 | 138 | 148|158 | 16§

Weight {in kg) e——

Weight (in kg) (48 - 58|58 -98|98-128|128 - 168

i
(0 No. of students 15 11 3 10

Weight (in kg) (48 -58|58-98|98-128|128 - 168

(i No. of students 15 3 4 3

Weight (in kg) |48 - 58|58 -98|98 - 128|128 - 168

() No. of students| 15 11 7 10

Weight (in kg) (48 -58|58-98|98-128|128-168
No. of students 15 13 7 10

(iv)

Weight (in kg) (48 -58|58-98|98-128 128 - 168

v) No. of students 15 3 2 3




13. Which of the following tables represent the given histogram with varying base widths
¥

No, of students

46 | 56 | 66 | 76 | 86 | 96 | 106 [ 116 | 126

Weight (in kg) s————n

Weight (in kg) (46-76|76-86|86-116|116-126
No. of students 5 14 2 6

(i)

Weight (in kg) (46 -76|76-86|86-116|116 - 126

ii
(i No. of students 14 14 5 6

Weight (in kg) (46-76|76-86|86-116|116-126
No. of students 14 9 7 6

(iii)

Weight (in kg) |46 - 76|76 - 86|86 - 116|116 - 126

iv
(iv) No. of students 5 14 4 6

Weight (in kg) (46-76|76-86|86-116|116 - 126

\Y;
v) No. of students 14 14 7 6




14. Which of the following tables represent the given histogram with varying base widths
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No. of labourers

231 | 241 [ 251

261 ___'2'?1

281 291 301} 311 _.321__'_

(i)

(if)

(iii)

(iv)

(v)

Daily wage

{in Rs)

—

Daily wage (in Rs)

231 - 251

251-271

271 -281

281 - 301

301 - 311

311-321

No. of labourers

14

15

8

7

8

8

Daily wage (in Rs)

231-251

251-271

271 - 281

281 - 301

301 - 311

311 - 321

No. of labourers

7

8

13

6

8

8

Daily wage (in Rs)

231-251

251-271

271 -281

281 - 301

301 - 311

311-321

No. of labourers

14

15

13

7

8

8

Daily wage (in Rs)

231-251

251-271

271 -281

281 - 301

301 -311

311-321

No. of labourers

14

15

13

10

8

8

Daily wage (in Rs)

231 - 251

251-271

271 - 281

281 -301

301 - 311

311-321

No. of labourers

7

8

13

4

8

8




15. Which of the following tables represent the given histogram with varying base widths

204

Y

HEE

16

14

D

No, of labourers

(i)

(if)

(iii)

(iv)

(v)

'256__256__275__285__296““306““316““326““336““345““356““356““3?6“ _____
i35 B mpiieejs imuse i e B e e i g (s Bt a1 8 e [
Daily wage (in Rs)  s—a—p
Daily wage (in Rs) | 256 - 266 | 266 - 276|276 - 286 | 286 - 296 | 296 - 336|336 - 376
No. of labourers 6 14 6 5 2 2
Daily wage (in Rs) | 256 - 266 | 266 - 276|276 - 286 | 286 - 296 | 296 - 336|336 - 376
No. of labourers 6 14 6 9 2 2
Daily wage (in Rs) | 256 - 266 | 266 - 276|276 - 286|286 - 296|296 - 336|336 - 376
No. of labourers 6 14 6 2 7 7
Daily wage (in Rs) | 256 - 266 | 266 - 276 | 276 - 286|286 - 296 | 296 - 336|336 - 376
No. of labourers 6 14 6 5 7 7
Daily wage (in Rs) | 256 - 266 | 266 - 276 | 276 - 286 | 286 - 296 | 296 - 336|336 - 376
No. of labourers 6 14 8 5 7 7




Assignment Key

1) (iv) 2) (v) 3) (ii) 4) (iii) 5) (ii) 6) (v)
7) (i) 8) (ii) 9) (i) 10) (i) 11) (ii) 12) (iii)
13) (v) 14) (iii) 15) (iv)
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